SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| 460015
MATHEMATICS / 7Tfor

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue AfHaq 3id : 90

General Instructions:

(i)
(i)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.
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Value of ﬁ is equal to :

1 1
(A) 2 (B) -2 © - O -
1 s
V18 — 32

1 1

@ @ O 5 O
Zero of the polynomial p(x) =2x+5is:
) 2 ® % © 2% O
TR p(X) =2x+5 F = ¢
) 2 ® % © 2% O

The remainder obtained when the polynomial p(x) is divided by (b —ax) is :

@ 2 ® e © ¢} © p[F
e 589 p(x) ®1 (b —ax) | 9 fohan S @ Avhed B
@ e[ ® e[l @ »[Y ® ¢

The remainder when x2 +2x +1 is divided by (x+1) is
(A) 4 (B) 0 © 1 D) -2
S X2+ 2x + 1 F (x+1) & wm feon < 2, < ot 2

(A) 4 (B) 0 ©) 1 D) -2

If the angles of a triangle are in the ratio 5 : 3 : 7, then the triang]le is :
(A) an acute angled triangle (B) an obtuse angled triangle

(C) aright triangle (D) anisosceles triangle

Page 2 of 12



e fpdi IS F R 5 :3: 7 F U A e MA@ AT
(A) Tk = = s (B) T sifers @ s

(C) w= wH= B (D) u= wHfgsg Ay

6. AABC is an isosceles right angled triangle in which ZA =90°, then /B =.
(A) 60° (B) 90° (C) 45° (D) 30°
AABC te gafgerg e 2 e o LA =90°, df /B sRisR ©

(A) 60° (B) 90° (C) 45° (D) 30°

Two sides of a triangle are 13 cm and 14 cm and its semi perimeter is 18 cm. Then
third side of the triangle is :

(A) 12cm (B) 11cm (C) 10cm (D) 9cm
Ife 31 e 1 < yod 13 9.7, 14 9.4, R afary =6 emen 18 A, 21, o e oo 2t :-

(A) 12 . (B) 113  (C) 103 (D) 9%

The base of a right triangle is 15 cm and its hypotenuse is 25 cm. Thenits areais :
(A) 187.5cm’ (B) 375cm® (C) 150cm? (D) 300cm?’
Teh U TS 1 3TeR 15 .. TR o1 25 A, 2, o ST &rse 8 :—

(A) 187.5¥72 (B) 375%.2 (C) 150&#.° (D) 300 .72

Section-B

Question numbers 9 to 14 carry two marks each.

9. a(b-c) b\C
x . x —
Show that Fa-og ¢ [—xa ] =1

xb (a—o) %

a(b—c b)¢
S [x_] 1
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10.

11.

12,

13.

Find if (—2x—5) is a factor of the polynomial p(x) = 3x4 +5x3 — 2x2 — 4 or not.

T FIACFF (— 2x — 5) 75 p(x) = 3x% + 5x3 — 2x2 — 4 =1 orEvE § W T |

Using a suitable identity and without multiplying directly, find the value of
(0.99) x (1.01).

U AT 1 FANT 2 adl T dier 7o f&3, (0.99) X (1.01) &1 OHwS F1d hifad |

If a point Z lies on the line XY between two points X and Y such that

XZ =YZ, then prove thatXZ = % XY .

T foig Z 31 forgatt X 8iRY & o= v XY R 39 yohi feem © fof XZ =YZ @ fog =ifsw fe

XZ=1XY.
2

In the figure below, AABD and ABCD are isosceles triangles on the same base
BD. Prove that ZABC=ZADC.

A

C

fr=1 empfa #, AABD @en ABCD i wHfgerg s § e ws & smar BD ®1 fag =ifsw f&
ZABC=/ZADC

A

OR
In the given figure, lines | and m intersect each others at O. If x =40° then, find
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14.

15.

the value of y, z and w.

In which quadrant do the following points lie ?

(A) (=6,2) B) (=5 -4

© G -2 D) 9,6

frfafed fowg form sgafe & feorm €72

(A) (=62 B) (=5 -4

© G -2 D) ©6)
Section-C

Question numbers 15 to 24 carry three marks each.

Represent +/10 on the number line.

J10 &1 e T R fefia S
OR
Find the value of — = — - ! —.

(216)°  (256) "
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16.

17.

18.

19.

4_2 — 1_3 1 {1 hITST |

(216)°  (256) "

If x=7+4 3, find the value of (\/E + %j )
X

Fdex=7+4 3, (\E + %) 1 A G RIS |

Find the value of a if (x+ a) is a factor of x4 — aZx2 4+ 3x—a.

afe (x + a) 5598 x4 — a2x2 + 3x — a F1 UFET £, 9 a F AE @ B

OR
Ifa+b=10anda2+b2= 58, find the value of a3 +b3,

gfza+b=10qal +b2=58% dr a3 + b3 = 7F I HIT|

Factorize : 64a3 — 27b3 —144a2b + 108ab2.

64a3 — 27b3 — 144a2b + 108ab2 ¥ TorETs FifT |

In the figure given below, BO and CO are bisectors of Z/DBCand ~/ECB
respectively. If #/BAC=50°and ZABC = 60° then find the measure of /BOC .

smpfa # BO g CO W &M /DBCand ZECB % wHfgaN® Tl RIS
ZBAC =50° and ZABC = 60° & @ «/BOC ! HIY F1d shiferg |
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20.

21.

OR
In the figure given below, PQ||RS and T is any point as shown in the figure, then

show that /PQT + ZQTS + £ RST = 360° .

P Q

&
<

A 4

A 4

A |
<

R S
arhfa #, PQ||RS e T fox ¥ wef¥fa ws g ©1 fos wifee i

/PQT + /QTS + / RST = 360°.

P Q

d
< >

A 4

<}
<

R S
Find the angles of a triangle PQR if Z/P— ZQ=45°and ZQ— ZR=30°.

APQR & hIUii &1 7F I shifsd afe /P— £Q=45°3R £Q— ZR=30°%I

In the figure given below, ABCD is a quadrilateral in which diagonal

AC bisects ~ A and ~C, prove that AABC=AADC.
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B
A
G
D

= &t e1pfa §, ABCD us =g ¢ fswem fawot AC il £ A 8iR

2 C =1 gufgsfoa e 21 fog wifse ff AABC= AADC 21

B
A
G
D
22.  In the following figure, O is the mid-point of AB and CD. Prove that

BD = AC.

A D
><

C B

= & sapfa ®, O W@l AB iR CD =1 qea-foig €1 fag wifse f&

BD = AC®I

A D
>O<

C B

23. In the figure given below, if AB||CD, ‘P’ is the mid-point of BD.

Page 8 of 12



24.

25.

Prove that P is also the mid-point of AC.
D C

A B

= < epfa #, afs AB||CD & @ BD &1 wea foig ‘P’ 8, @t fag wifsie o P rargs AC &1 4t 7=
fag g1

Find the area of a triangle, whose sides are 26 cm, 28 cm and 30 cm respectively.
e T3 &t oId 6w 26 cm, 28 cm a1 30 cm § | T S%het F1d HifeT |

Section-D

Question numbers 25 to 34 carry four marks each.

V3 - f —M ind the value of a’+b”>—5a
Ifa = \/_ NA db—ﬁ_ﬁ,f d the val f a“+b“—5ab.
afga = ? ﬁﬁ?ﬂb ﬁJrﬁ%?ﬁ 2 +b*—5 ab 1 HF @ HITC
OR

1 1 1 1
Ifx:(2+\/§)/2+(2_\/g)/2 and y:(2+\/§)/2_(Z_Jg)/z,thenevaluate
x2+12.

1 1 1 1
e T @) =@ ) 20
iy |
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26.

27.

28.

29.

30.

fa=7-—4 \/§,findthevalueofa\/a_1+i
Ja

aﬁ’a=7—4\/§%‘,a‘r\/§+% T A F1d I |
a

Prove that x3 +y3 +73 —3xyz= % (x+y+2)| (x—y)2+ (y—z)2+(z—x)2]

firg it fob x3 + y3 + 23 — 3xyz = %(x+y+z)[(x—y)2+(y—z)2+(z—x)2]

Find if remainder obtained on dividing polynomial p(y) =13 +ay2+5y—25 by
(y +a) is a factor of polynomial f (a) = a2 —5a+25.

#1 TR p(y)=y3+ay2+5y—25 F (y+a) ¥ fawfm #W | TH IowA, TgE
f(a) =a2 — 5a + 25 F1 ToFRETE B

Determine whether (3x —2) is a factor of 3x3 +x2-20x+127?

T IS fF T (3x — 2) 9892 3x3 + X2 — 20x + 12 F1 U UGS £ 2

OR

Factorise : 2x3 4+ 7x2 —3x —18.

TorETE e 2x3 4 7x2 — 3x — 18.

Observe the points plotted in the figure and find the following :
(i) The co-ordinates of E

(i) The point with the co-ordinates (—4, —1)

(iii) The abscissa of A —abscissa of B

(iv) The ordinate of C + ordinate of F.
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31.

De. L1
__2 oA
- -3
Feo - —4
VV}/I
& g2 i 1 SfE IR Fr=fafed & sw S
(i) fog E % frduries

(ii) fog fowes frdwis (—4,—1) @
(iii) A =1 4s — B @1 9

(iv) Cwi®ife +F = %

In given figure, the side QR of APQR is produced to a point S. If the

bisectors of ZPQR and ZPRS meet at point T, then prove that ZQTR = % ZQPR.
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P T
Q R S

& ¢ amepfa #, APQR &t 3= QR w1 fag S a6 sigren mn ®1 afe L PQR 3R /PRS & wafgarses
foig T ® fyer 8, ot fog =ifse fof ZQTR = % ZQPR .

P T
Q R S

32. Inthe given figure, PR > PQ and PS bisects ZQPR, prove that /PSR > /PSQ.

AP\
Q 3 R

& T empfa #, PR > PQ 3R PS £ QPR &1 wAfgais: &1 fag sifsg f6 ZPSR > ZPSQ I

/Pi\
Q S R

If the bisector of the vertical angle of a triangle bisects the base of

33.

the triangle, then prove that the triangle is isosceles.

Ife ferdt fys # viid farg W o= 107 1 FRlGIISIS T0g@ o S gufgafsa o €, @ fag wifse fF
et Tmfgerg 1

34. Prove that medians of an equilateral triangle are equal.

fag wifST for weh grerg By ot mifegend T9E Bt €1
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